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K &Y S'tatistics Honors
Chapter 2 Test Review — Homework #4
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1) The histogram is unimodal and very roughly symmetric.
2) The boxplot is symmetric with no outliers.

3) The Normal Probability Plot is fairly linear.
4) Therefore we can conclude that the heights of the 20-29 year old men

are normally distributed.

2) M( 1017, 209)
Z= X=-M = 320-1017 - -~ 942¢
a 204
12,36 %
N(SSI} Ns)
2 = X-M = Z00-53) =~ 2,339/
a ns = 2.3Y

= .96 4

4)
invnorm (area fo Jeft, um,07)

invnorm (75, 1o, 25)
=[12¢.8¢22

35 ¢0 gs- 10 135 160 185
12¢.8622
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5) normalcd £ (min, max, u,g)
o normaled€( 8.2s, 1000, 8, 0.5 )
- 8,/ : = .3085
¢5 7 75 8 85 9 95 - [3,45°
825 30.85 2.
6) normalcd € (min,max, u,q)
% hormaled£( 115, 295, 205, 7o)
//- =.6827
~S 25 IS 265 245 385 475 = 16827
63 A Based on ‘the
Empiricz] Bule
7) Mcﬁ han Nicdle Nicole did better because she
N(82,3) N(78,2) scored 3 standard deviations

= X-JA above the mean, where Meghan
z "’a-" Z=§7-82 Z= 2.‘1:28 only scored 1.6667 standard
p 3 ¢ P 2 deviations above the mean.
- ,‘c -

8 a) FALSE
bJ TRUE 99.7% of the data is with in 3 standard deviations of the mean.

q) | A
2= X=M L7 = X-1% 6 (=L,1C6T7) = X-1% X= 10.9998
T A +1% +18
[») R

Normalcdf (min,max,mean, std dev)

Normalcdf (520,10000,516, 20) = .4207

Y5l 4 YL 5}(, gja fgg 576
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Invnorm (percentile,mean, std dev)
Invnorm (.90,516, 20) = 541.6301

HS6 H H9( 5/ 53¢ s5¢ S57¢

lz) (a) 30.8?3‘3-b (b)  3830% @ 61.70%
8 (] 30.
 gs? 3538, pocrmaledt (min may , u,9)
20-"y 4 Z ’
normaledf(o,15.5,10,1) .308538
15 14 15|l 18 74 normaled$ (1L.s ,100,16,1) . 308538
15,5 15 +
.6 17075
e Of
Page Jof4 ¢1.7075%,

13) mean median

14) You scoted higher than 90 % of W people yhat tfook
e IQ@ ftest.

15) 0,
6) 2-5Cofe

I17) a Mormal PRoBABILITY Plor
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